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P 100kN/mM%#BZ. 5 - -~ - -|3mEFBZD -~ - - -| 100kN/m%#8 %% - -~ - -|3m%E#BZ B -~ - - -
zhst 1.00 | 000 ~ 467 5820 | #Fnst | 000 ~ 0.00)| 1.62 867 zhst 1.00 | .00 ~ 5.00 5820 | #hSt | .00 ~ 5.00 | 1.62 867
2 100kN/ Mm% 25 ~ -|3mEEBZD -~ -] 100kN/mM%#8 2% -~ -|3m#EFBZ S ~
Thilst 1.00 | 000 ~ 778 99.86 | #hst | 0oo ~ 7.78| 1.96 10.60 st 1.00 | .00 ~ 1200 99.86 | #nhst | 5,00 ~ 1200| 1.96 10.50
3 100kN/ Mm% 25 ~ -|3mEBZD ~ -] 100kN/mM%#8 2% ~ -|3m#EFBZS ~
zhs 1.00 000 ~ 610 76.50 | TS | 000 ~ 610 2.95 15.80 zhs 1.00 | 500 ~ 1396 76.50 | TS | .00 ~ 1396 2.95 15.80
4 100kN/m%#BZ%5 | 1.00 | 000 ~ 228| 135,47 |3m%E#BZ 5| 000 ~ 0.05| 3.03 16.23 | 100kN/mi#z#825 | 1.00 | 11.74 ~ 21.49| 13547 |3mZE#Bz 5| 2000 ~ 21.49| 3.03 16.23
s 1.00 | 228 ~ 1006 100.00 | =nLsy | 0.05 ~ 1006 3.00 16.05 ThList 1.00 | 6.00 ~ 11.74 100.00 | =nLsYy | 6.00 ~ 2000 3.00 16.056
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ IMEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/m##8 %% ~ IMEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM%#8 %% ~ IMEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#B2. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEEBZD ~
zhst ~ st ~ zhst ~ znLst ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ ImEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ zhLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ st ~




